F1HHE TH2A (L)

No. | EHE MR |L— b o—k 22 i
Rl 5B
3 2 B (=E45B) 2 4 | 42 16
1 [ 9:30 | HA 1 X 5 AR (LHEA) 1 4 21 93
TIEA 6 | i 1 (EREA) 4 | 5 10 | 29
7 g (lK=C) 3| 4 47 46
4 JII A (WEFEB) 2 4 53 98
o | 9:40 | @A ’JT%% 5 T % URKA) 3|5 06 77
T®B 6 KA (BdA) FEHE
7 O (K=B) 1| 4 47 11
ELT |4 kA () 1] 5 38 89
3 19:50 | EB 1 X 5 s H (EMEA) 31 8 32 80
WEERE 6 @ % (EREB) o [ 7 T 10 89
2 FEFIE C 5 5 03 02
g 3 FAHB 3 4 29 59
VA)) .
5 [ 10:00| EB TR La [ Ewa 14 19 40
NN R E 5 FHA 2 4 29 40
6 FEFIE B 6 5 22 19
7 =B 41 4 44 68
mA | DEKT 4 fg%EA 1| 4 45 57
15| 10:10 4 X+ 5 =B 2 4 57 34
HB | MMLRE [T i 3 5 22 30
0 ffo fB (K1) FEHE
1 fils W (®EKH) 7 5 21 65
2 e Bk (®KG) 31 5 07 46
e |3 oW GEKE) 4| 5 10 25
6 | 11:00| [ 1 X 4 g GBKE) 6 | 5 16 24
WOCIRTE 5 [ e GEIKD) 8 | 5 23 74
6 s ) (E®EC) 5 5 13 50
7 WA (%EB) 2 4 56 75
8 fk A GEREA) 1 4 53 | 05
0 JIL A GBI FEHE
1 g (BKH) 51 4 29 14
2 5 oJE (GBKG) 21 4 22 50
IR BT 3 B A& (®BKF) 4 26 56
7 | 11:10 | [EEE 1 X% 4 & Rk (BKE) e
NEALIRTE 5 A (GEBEKD) 6 | 4 33 06
6 e & (®KC) 7 4 36 82
7 fif 3 (4K B) 1 4 18 16
8 O (EEA) 3 4 23 68




Yo | FEN s |o— n—4%, s — 2 e
REd 5B

4 | HbOL ad-a—FA 3 4 38 60
I Ejzfiﬁz 5 [#bolah-a-58 o | 4 | 36 46
NgpreE | 6 | HFhboladh - a—-FC 1| 4 32 55
7 | b ah - a—FD 4 4 58 26
. 4 | HbOL< ad-a—JA 2 3 43 99
N Ejzf;ﬂz 5 [#bol=h-a-58 3| 3 | 47 92
NgpreE | 6 | HFhboladh - a—-FC 41 3 52 9
7 | b ah - a—FD 1 3 | 40 @ 45
3 e Bk (I B) 2| 6 56 42
ERT |4 ek (WHEB) 3| 7 25 85

10 | 11:40| EB 1 X 5 m\E (FR) FEHE
IERLIRTE 6 Mg (EFEC) 4 7 55 00
7 fif 3 (ILEC) 1 6 31 12
IEAL T 4 4 W (=) 1 5 03 62
4 [11:50| EHA 1 X 5 A B (FA) 3 5 39 23
IERLIRGE 6 B &=) 2 5 08 99
3 K=C 1 4 09 35
e |4 = A 31 4 19 87
11 [ 12:00 [ [EA 2 X 5 BRI L 2 4 11 24
IBAEIRE g PERIE A 4| 4 20 58
7 =B 5 4 38 07
2 BRPLTLHEC 3 4 04 97
EA g 3 HIRATEB 1 3 59 30
16 | 13:00 4 X+ 4 BRFLTEA 2 | 4 00 41
IRALRTE 5 A o | 4 35 18

= B

6 =B 1 4 31 | 57
1 K I (AHDOLIB) 2| 4 40 30
2 % M (JEBCK) 51 4 57 170
3 N (BBDOLSA) 41 4 53 19
17 | 13:10 Ekfff% 4 = (Z#Ho<D) | 7| 5 11 32
NEpr e [0 e . (bo<C) | 6] 5 01 58
6 5 B (AHLOLE) 8 | 5 24 34
7 EEE CGREGRER) 3|1 4 52 5l
8 o B (lakR) 1 4 40 04

1 X B CRVEE FEHE

2 Bl (AbonL C) |FHEHE
\ 3 e (AAKR) 1 56 | 29
8 | 13:20 EET%% 4 7B (HAX) 4 10 59
MEfrkEA | 5 | EPEE UEXR) 00 37

6 Peplie (RO R) | 3EHE
7 N E S #HMRC) 31 4 05 80

8 R (EfIEBC) |3




FEfE

ZA L

No. He Fi ! A H L= 7 N—4 A BOfiE
2 Bl E (b3 xRk |
3 = B (AboL<B) |FEHE
sy |4 R (AR 1| 3 55 48
19 1 13:30 X 5 T+ E (IEXR 3| 4 03 o7
IRALIRTEB g % (rHEDA) | 2| 3 58 45
7 er R (IBEKR) 4| 4 03 34
8 Ko (RAER) 5 4 21 03
3 i (EFEA) 2 5 14 53
gy |4 T % UEkA) 3| 5 36 88
131 13:40 | HA 1 X 5 M (&=C) 1] 5 01 05
NEAZIRE B [ g
7
e 4 JII A (WEFEB) 4 5 38 87
1350 | @A ’/TZZ% 5 | B A (hmA) 1| 4 43 53
NEp e A |6 7w Ok (E=B) 3|15 14 16
7 2 W (=E4&B) 2 5 06 87
3 i A 1 4 44 21
N I HA ’inﬁz 4 | A o | 4 55 34
g MEfrE 5 =i B 2| 6 46 @ 45
6 =i C 1 5 3 73




®woHHE T7H3HB(H)

No. | EHE MR |L— et 22 i
Rl 5B
1 e & (®KkC) 4 30 47 11
2 Bk (®%H) 3 3 46 28
3 B OB (EEA) 5 30 47 49
oo | 9030 | e ’}T%% 4 | B W GEEB) 1 3 43 43
ERr e |5 5B (B%G) 7 3 49 18
6 B A& (®BIKF) 2 3 45 04
7 R (G#4KD) 6 3 48 94
8
1 fils W (®EKH) 6 4 26 91
2 s ) (E®EC) 5 4 26 62
3 e B (BKG) FEHE
o oo | e | DS e | @ o Gema 1| 4 15 60
BN e 5 WA (%B) 2 4 16 94
6 WoH (EEEF) 4 4 23 09
7 Wy (BKE) 3 4 19 58
8 NER (BIKD) 7 4 32 35
oo | o:50 B kT 4xHm | 3 A FERKT 1 5 03 90
AL 1R | 4 R CGEFER) 1 4 40 06
s L3 EATHE 21 2 19 46
4 IHERC 1 2 | 05 54
23 [ 10:00| B ~xsexzawm| 5 LAk FoHE
I B (EaAEE) FEHE
7 B (AR C) 1 2 16 10
24 | 10:50 Pt A 2 zzgijj??A 215 % B
-a2—FB | 1| 3 53 57
3 it (At ERCA) 5 4 43 22
mEsT L4 & i (dEERCB) [ 4| 4 24 03
25 | 11:00 & 1x 5 | B B CHFEXR 1| 3 59 63
PR 6 wrH  CEFR) 2 4 09 67
7 e B (UHERC) 3 4 14 44
. 3 CHAOS 3 4 20 00
S T Ekfzz% 4 | AT 1| 4 o7 a1
R 5 BULLET 2|1 4 21 71
6 WING N
3
\ 4 | BE B (EMEBC) |oP| 3 51 34
o7 | 11090 EET%% 5 | #xk  HLBEKR) 1| 3 43 18
NEprpeEB |6 7 B (HAKR) 21 3 45 05
7 Koo )i GRAEKR) 3| 3 59 37
8




FEfE

ZA L

No. Fi ! A H L — 7 —4 A B e
5 5B
3 N E @#HERC) 6 | 3 46 60
\ 4 i (HHOSA) | 4] 3 39 92
o REBT | 5 | el (AN |3 20 =
lERr ez A |6 R (AAKX) 2| 3 34 10
7 | REREH (ileX) 31 3 36 21
8 T % (EaX) 51 3 44 63
3 IHHRCB 1 3 42 59
o 4 aFERKT 51 4 25 91
00 | 110 | - mf?j% 5 | dLERCA 2 | 3 42 83
Ve 6 IHHR CA 3 3 49 00
7 {tERCB 41 4 04 86
8 HHOL Af s a— FEhE




DR T
4 X+
2 X
1X

IR
AR TS -
4+
2 X
1%

JAE LT
4 X+
2 X
1 X

D W O O

AR5
4+
2 X
1 X

JAE 2
4 X+
2 X
1%

TAH—R
AR5 F-
KF
2 X
1X

15



F1HH 7H2H{)

No. ] ol fEH . I O ==x 4
1 9:30 EA  DEHT 1 X TiEA 5 5
2 9:40 EA  DEHT 1 X TiEB 4 4
3 9:50 EB  AHELT 1 X JEAT P & 3 3
4 10:00 HA  AFELT 1 X JNEAL IR E 3 3
5 10:10 EB  AFEHET 2 X JNEAL IR E 6 6
6 11:00 Ei® | DMELT 1 X AR R B 9 8
7 11:10 Ei® | DMEET 1 X AR R B 9 8
8 11:20 AR 22 2 X JNEAT & 4 4
9 11:30 A 2 X JNEAT & 3 3
10 11:40 EB  AFEHET 1 X JNEAL IR E 5 5
11 13:00 HA  AFEBT 2 X JNEAL IR E 5 5
12 13:10 M5 DAL 2 X JNEAL IR E 2 2

[HA 2 2

13 13:20 EA  DEHT 1 X |NEEB 3 3
14 13:30 EA  DEHT 1 X |NEfREA 6 6
15 13:40 M5 DA 4 X+ | BN E ! !

[HA 2 2

16 14:00 M5 WERA| 4 X+ | NENRE 2 2

[HA 3 3

17 14:10 AR 22 1 X JEAT & 8 8
18 14:20 A 1 X FEA 8 5
19 14:30 A 1 X FEB 7 5

B2HH TH3H(H)

No. 1537 (]I i H i L= B
20 9:30 EE  DERT 1 X JEAT R 8 8
21 9:40 EHE  DELT 1 X JEAT R 8 8
- 9:50 [ AR 2 1 X | BT E 1 1

I AR LA | 4 X+ | EARE 1 1

1 X | ERLRE 2 2

23 10:00 15 ~vAL—=X| 2 X JEAT R 1 1
KF JEAST R 2 2

24 11:00 15 AR 55 F- 1 X | NEATRE 5 5
25 11:10 15 AR 55 F- 2 X | MEfLE 4 4
26 11:20 DR 1 X |IEfzRE B 7 6
27 11:30 DR 1 X [IERzTRE A 8 6
28 11:40 B REES T 4+ | NERLRE 6 5




